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TOURISM ADMINISTRATION & MANAGEMENT
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Mr. Hector Ceballos-Lascurain is
credited for coining which term ?

(A) Ecotourism

(B) Nature tourism

(C) Sustainable tourism

(D) Sex tourism

The trail blazing research publication
“Tourism Ecotourism and Protection
areas” was published in 1996 by

(A) UN. World Tourism
Organisation

(B) World Conservation Union

(C) World Conservation
Organisation

(D) World Wildlife Fund

Assertion (A) : If the masses were
to take to ecotourism in a big,
aggressive manner, ecotourism
would turn out to have negative
connotations.

Reason (R) : Ecotourism should
never have mass concentration.
It should be extensive, not
intensive.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but
(R) is not a correct explanation.

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

TERN was established in 2006 and

managed by UNWTO for Risk and

crisis management. What is TERN ?

(A) Tourism Emergency Response
Network

(B) Tourism Emergency
Regulation Network

(C) Tourism Emergency Response
Netlog

(D) Tourism Emergency
Regulation Netlog

Paper-111

Push factors in Tourism are
(A) Facilities

(B) Prestige

(C) Services

(D) None of the above

Pull factors in Tourism are
(A) Rest and Relaxation
(B) Escape

(C) Amenities

(D) None of the above

UFTAA divides the world into how
many regions ?

(A) 7 B) 3

(©) 11 (D) 12

Arrange the following railway
properties according to the year they
appeared on the world heritage list :

L. Darjeeling Mountain Railway
II.  Nilgiris Mountain Railway

III. Kalka-Shimla Railway

IV. C.S.T. Mumbai

(A) LILIIL IV

(B) LILILIV

©) LIV, 1,1

(D) IV, ILIL I

The following are relevant to Thar
Desert. Use the code :

L Luni River

II. Camels

III. Sedimentary Rocks
IV. Crescent shape dunes
Codes :

(A) LI III, IV are correct
(B) L, II are correct

(C) LI 1V are correct
(D) L, IV are correct
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(A) Tourism Emergency Response
Network

(B) Tourism
Regulation Network

(C) Tourism Emergency Response
Netlog

(D) Tourism
Regulation Netlog

Emergency

Emergency

D-93-13

5.

A: T YT H U= (75) Tg-foehedid U € | e e et (2) 3R € | |l ue e €

(A) Fhom
(B) Wifawr
(C) Warg
(D) SWie 9 | &g Tél

T H SHITT B aTet o &
(A) fasm 3T wifoea

(B) UemaA

(C) FE-gfum

(D) SWisd ¥ F g Tal

UFTAA foea ot fhaa &= o fowmsa
FHHATE 2

(A) 7 (B) 8

C) 11 (D) 12

=i Yord Sufaar o fava o
gl § 9F & & 9 & HHHER T
I SifSfen gdd Yo

II. AR gdd 3o

1.  SHeTHI-HaT I

IV. CS.T. 4%

(A) LILTI, IV
(B) LIILIILIV
(C) LIV,ILII
(D) IV, T, 11, T

IR WA & qY efefad @@
TR € 2 IS T WA L |
I. Tt

I 3=

I, WaER &R

IV. <SR S Wd

%

(A) LIL LIV EE |
(B) LITEE |

(C) LILIVEE |

(D) LIVIEE |

Paper-I11



10.

11.

12.

13.

14.

What is the Vehicle (Vahana) of
Goddess river Ganga ?
(A) Tortoise (B) Crocodile

(C) Dolphin (D) Serpant
Under which tree did Queen
Mayadevi give birth to Siddharth ?
(A) Ashoka (B) Peepal

(C) Neem (D) Shala

This consists of two lists of places
and temples and the candidate has to
match an item in one list with an item
in the other :

List— 1 List— 11
(Places) (Temples)
i. Jharkhand 1. Vishnupad

ii. Chhattisgarh 2. Virupaksh
i11. Karnataka 3. Vaidyanath
temple
iv. Bihar 4. Danteshwari
Codes :
@ (@) (1) (1)
(A 1 2 3 4

B) 4 3 2 1
© 2 1 3 4
M 3 4 2 1

This consists of two lists of statement
phobia and terms and the candidate
has to match an item in one list with
an item in the other :
List—1 List—11
(Phobia) (Statement)
i. Hodophobia 1.Fear of cooking

ii. Pteromerhano 2. Fear of height

phobia
1i1. Mageiroco 3. Fear of travel
phobia
iv. Acrophobia 4. Fear of flying
Codes :

(i) () (i) (1v)

A 4 3 1 2
B) 4 3 2 1
© 3 4 1 2
M 4 2 1 3

“Bibi-ka-Magbara” the replica of the
Taj Mahal is located in which city ?
(A) Ahmedabad (B) Aurangabad
(C) Ahmednagar (D) Ahmedpur
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15.

16.

17.

“Partie” system is an organizational

structure for

(A) Dividing the housekeeping
department into various sections

(B) Dividing the front office
department into various sections

(C) Dividing the food and beverage
service department into various
sections

(D) Dividing the kitchen into various
sections

Which one of the following pairs is
not correctly matched ?
(A) Chilling dishes at

3 °C immediately

after cooking and

holding at 0 °to 3 °C — Cook chill
(B) Freezing food to

—18 °C to 20 °C

soon after cooking

and holding them

at this temperature — Cook

till required freeze
(C) Chilling dishes to

36 °C immediately

after cooking and

holding at this — Blast

temperature chilling
(D) Freezing dishes to

—-18 °C to 20 °C

immediately after

cooking and

holding at this — Blast

temperature freezing

Assertion (A) : Standard recipe is a
written document on the
method of preparing a dish
with portion size, list of
ingredients and their quantity.

Reason (R) : Standard operating
instruction for the department
to perform its task for food
preparation.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation.

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation.

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.
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18.

The overhead cost is considered in menu

pricing which include the following :

(A) Food cost, Labour cost, rent and rates

(B) All expenses except food cost

and labour cost

(C) Labour cost, gas, -electricity,
water and telephones

(D) Food cost, gas, electricity, rent
and rates

19. Following are the duties of a Front
Office Manager :

L. Recommend and monitor a
front office budget and plan for
the year.

II. Lead, train and motivate front
office team

III.  Approve expenses of the Front
Office Department

IV. Ensure the safety and hygiene
of the Front Office and its staff.

(A) LI III and IV are correct.

(B) 1, II and III are correct.

(C) I, III and 1V are correct.

(D) TandIV are correct.

20. This consists of two lists of
alternative forms of lodging and
accommodation :

List—1 List— 11
(Term) (Statements)

i. Paradors 1. Travellers are provided
with overnight lodging
at rock bottom prices

ii. Pensions 2.0ld buildings

converted into hostels
by government and

offer at reasonable
prices with full meal
plans.

iii. Condo- 3. Large home that was
miniums turned into a guest
house offer food and
lodging
iv. Youth 4. Individually  owned
hostels residential units under
common management
offer apartment style
accommodation with
kitchen facilities
Codes :
(i) i) (i) (1)
(A) 1 2 3 4
B) 3 2 1 4
<) 2 3 4 1
(D) 4 1 2 3
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21.

22.

23.

24,

Assertion (A) : Hotel business is
very lucrative as it satisfies two

physiological needs of all
human beings — shelter and
food.

Reason (R) : Hotel specializes in
providing facilities and
amenities to the business
corporate.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation.

(B) Both (A) and (R) are true and
(R) is not the correct
explanation.

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Which is an open jaw itinerary ?

(A) Delhi —  Chennai —
Mammalapuram — Madurai
— Delhi

(B) Delhi — Nagpur — Chennai

(C) Chennai — Madurai —
Cochin — Chennai

(D) Kolkata — Bhubaneshwar —
Chennai — Kolkata

Which are the dangerous goods in
airlines ?

(a) Copra
(b)  Adhesives
(c) Mercury

(d) Bleaching Powder
(A) (a), (b) only

(B) (c), (d) only

(C) All of them

(D) None of them

Which is a Green field airport ?

(A) Indira Gandhi Airport, Delhi

(B) Rajiv Gandhi Airport,
Hyderabad

(C) Birsa Munda Airport, Ranchi

(D) Lok Nayak Jay Prakash
Airport, Patna
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25. The free baggage allowance for first
class and business class passengers in
airlines is
(A) 2 bags (pieces) where the total

of the 3 dimensions does not
exceed 145 cms for each bag.
(B) 2 bags (pieces) where the total
of the 3 dimensions does not
exceed 158 cms for each bag.
(C) 2 bags (pieces) where the total
of the 3 dimensions does not
exceed 268 cms for each bag.
(D) 2 bags (pieces) where the total
of the 3 dimensions does not
exceed 278 cms for each bag.

26. Calculate the flying time if a flight
leaves Detroit (—0500 hrs) at 1405
hrs and arrives Mumbai (+0530 hrs)
at 2300 hrs next day
(A) 22:25hrs
(B) 20:25 hrs
(C) 18:35hrs
(D) 18:25 hrs

27. This consists of two lists of railway
zones and headquarters and the
candidate has to match an item in one
list with an item in the other :

List— 1| List—11
(Railway Zones) (Headquarter)
i. Central 1. Mumbai

(Churchgate)
ii. North 2. Allahabad
Central

iii. East Central 3. Hajipur
iv. Western 4. Mumbai (CST)
Codes :

0 G Gi) ()
(A) 1 2 3 4
(B) 4 3 2 1
) 4 2 3 1
(D) 1 3 2 4
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28.

29.

30.

31.

Which section of waterways are
declared as National Waterway ?

L. Allahabad — Haldia

II.  Sadia — Dhubri

III. Kottapuram — Kollam

IV. Jabalpur — Surat

(A) L II & IIT are correct

(B) I & III are correct

(C) None of the above is correct
(D) All of the above are correct

Arrange the following Global
Distribution Systems based on the
year of its introduction :

I.  SABRE
II. SMART

. AMADEUS
IV. WORLD SPAN
(A) LILIIL IV
(B) ILILIV,I
(C) TLIV,LII
(D) IV, ILIL1

Following countries come under
IATA Traffic Conference Area — |

I. USA.

II.  Greenland

II. Iceland

IV. Russia

(A) IandIII are correct
(B) TandII are correct
(C) I and]IV are correct
(D) Iand1V are correct

Which countries are not part of the
European Union, but member of
Schengen VISA ?

(A) Finland and Denmark

(B) United Kingdom and Portugal
(C) Norway and Iceland

(D) Spain and Greece
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29.

30.
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32.

33.

34.

35.

36.

Travel propensity is a measure of

(A) The percentage of a population
engaging in tourism

(B) The ratio of day trip to
overnight visits.

(C) Tourism market share of a
country

(D) Frequency of travel
population

of a

Which Sea attracts over 160 million
tourists a year ?

(A) Mediterranean Sea

(B) Caribbean Sea

(C) South China Sea

(D) Caspian Sea

Which of the following is not a
London based airport ?

(A) South Hampton

(B) Heathrow

(C) Gatwick

(D) Stansted

“Petra” one of the seven wonders is
located in
(A) Syria
(C) Jordon

(B) Lebanon
(D) Israel

This consists of two lists of air ports
and city and the candidate has to
match an item in one list with an item
in the other :

List— 1| List—11
(Airport) (City)
1. Swami 1. Ranchi
Vivekananda
Airport
ii. Birsa Munda 2. Raipur
Airport
iil. Chaudhary Charan 3. Varanasi
Singh Airport
iv. Lal Bahadur 4. Lucknow
Shastri Airport
Codes :

(i) (@) (@) (1)
A 1 2 3 4

B) 4 3 2 1
C 2 1 4 3
D 4 2 1 3
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37.

38.

39.

40.

Which pairs are correctly matched ?

List—1 List—11
(Airlines) (Headquarter)
I. Cathay 1. Sharjah
Pacific
II. Lufthansa 2. Cologne
III. Emirates 3. Hong Kong
IV.KLM 4. Amsterdam
Codes :

(A) I & I are correct.

(B) II &IV are correct

(C) All are correct

(D) None of them are correct

The production concept in marketing
emphasis on

(A) High quality goods
(B) Large volume of goods

(C) The product with best possible
features

(D) Products and services
emphasising on environment

A skeptical buyer is one
(A) who makes impulsive purchase

(B) who carefully weighs the cost
and benefit

(C) has a negative image about
product

(D) 1is keen to return the product

“REVPAR” is a test which

(A) measures income before fixed
cost

(B) insists on performance
measures based on increase in
operating margins

(C) assumes that room revenue is a
good indicator of a hotel’s
overall performance

(D) indicates what a business unit
wants to achieve
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32. “amn ygta e st o AU & 9
(A) TS T Howd SHEEAT S Aaed
(B) < AT 1 AR FHUT 1 SIS
(C) U IT1 % Y HThe ol fea
(D) U SHEEAT i AT i TRERAT
33. ®F W WS 160 fafeem wdew #
T STt T & 2
(A) Uil aa arR
(B) Rfsad @i
(C) sfeor I TR
(D) T R
34, TAH ¥ DT W& A TGS el ¢ 2
(A) WR¥EgeT (B) &
(C) Trefow (D) wWILS
35. ;ﬁﬁﬁﬁ@@‘ﬁa’aﬁm@ﬁ
9
(A) S (B) W&
(C) SiE (D) TREA
36. IEr — [ @ T8 B gt — 11 H AT 9
AT Y
= - | =it - 1
(TERTIL) (¥TE)
i. W foewEg 1. e
T
ii. RO ST TERAE 2. WR
i, 9l o 3. o
TR
iv. o1 SR IS 4. TEES,
TR
T
@) () (i) (v)
A 1 2 3 4
B) 4 3 2 1
C 2 1 4 3
M 4 2 1 3
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37.

38.

39.

40.

I | T Gl &1 9 GAferd €
-1 -1

(TERATSH) (TEATeTE)
[ ¥ ofafees 1. IRSTE
II. S 2. A
II1. 3R 3. BRI
IV. KLM 4. IHALISH
TN

(A) 1T I T e |
(B) IUa VT |
(C) T e |
(D) & oA € |

forqur H IcaE i TR &l ST Bl
&

(A) =9 TOTERT ATet |
(B) WMEM & Afeeh AT
(C) TaH TAIUT o IS
(D) TATERT X SR IS AT Halm

T T Shell I 7,

(A) ST 3TET H TSR AT & |

(B) S QEYHYEs o 3R o i
ST AT E |

(C) ToTod 3R it FhRIcH BT & |

(D) ST 3CUTE i e T R &l |

‘REVPAR® W&t o€ &, ST

(A) Fad goa 9 wed el
3NMHe HLAT T |

(B) UEeH UM § gy W IAERA
FEHRT ST W SR AT E |

(C) ¥& HFaT & T a7 3T\ gleet
& Tt IR T STST GIF € |

(D) @€ US¥H FAT o U AEAMTH
Teheh 1 YT h3AT =8 € |
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41.

42.

43.

44,

The percentage relationship of an
organization’s sales to total industry
sales referred as

(A) Market share
(B) Profit maximization
(C) Target rate of return

(D) Direct response sales

Which one of the following pairs is

not correctly matched ?

(A) It is one of the — Behavioural
theory of  theory
motivation

(B) It is a strategy to — Branding

differentiate
products and
companies

(C) Tourism — Pull factors
products and
attractions

(D) The film — Himalayan
produced by the Adventure
Ministry of
Tourism

Which one of the following key
statistics is not associated with factor
analysis ?

(A) Bartlett’s test of sphericity

(B) Communality

(C) Eigen value

(D) MANOVA

Which one of the following is not the
probability sampling method ?

(A) Systematic sampling

(B) Snowball sampling

(C) Cluster sampling

(D) Stratified sampling
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45.

46.

This consists of two lists of types of
validity and its meaning and the
candidate has to match an item in one
list with an item in the other :

List—1 List— 11
(Types of (Meaning)
Validity)
i. Content 1.1t addresses the
validity question of what

construct or
characteristic the
scale is measuring
ii. Criterion 2.1t measures the
validity extent to which the
scale correlates
positively with other
measures of the
same construct

iii. Construct 3.1t consists of a

validity subjective but
systematic

evaluation of the

representativeness

the content of a
scale for measuring
task at hand
iv. Convergent 4. It examines whether
validity the = measurement
scale performs as
expected in relation
to other variables
selected as
meaningful criteria
Codes :
0 G Gi) (v
(A 1 3 4 2

B) 4 3 2 1
@C 2 3 1 2
M 3 4 1 2

Which one of the following is not a
comparative scale ?

(A) Rank order

(B) Constant sum

(C) Q-sort

(D) Likert
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41.

42.

43.

44,

T TS i foIsht o1 Gl 32T ot fersh
% |1 Tie9Td Gee i el Sl &

(A) THS I

(B) MY T ATherHIshoT
(C) ogelt ot 713 T
(D) forsht o1 TreT werer

=it Tt § § B @1 W& T 9

gHferd =&l & 2

(A)TE WM & - ATRIRS
gqromet W # s
THE |

(B) & 3R 3R — wifen
Hurar i
AT HH H
T & |

(C) WA 3% Wd  — 3TN el
SATHTT

(D) T¥e T §RT — fedTeras
e e TSI

Factor Analysis % W2 %A T qd
ifterent Tore el € 2

(A) TS T THAUTES TLHeI0T

(B) et

(C) Eigen Value

(D) MANOVA

T T DI T AT Tfaa= ggid
91T & & 2

(A) faxnfes duferT

(B) TATSITer SuferT

(C) T HuferT

(D) RicwEe Jufet
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45.

46.

ga — 1 ® g — 11 % 9 gHferd
FHIT

- |
(AT % UBR)
i. e 1.

=t - 1
(et
g 39 UL H Tl
AT € T
B ERIRCHEI
A AT @Y |

. . g 39 91 a%
aferreer AT & SRl b
341 Tt & o=
TR o 91 Thel

TR i
AT HAT T |
TEH B % B
Thel & o i
gfat-ieesar 1
oo g
Fated Yodieh
BareE |

T S T & TF
FT HIYF Thel
T 39w
T & ST 3Ty
TRt & &9 |
Spincco)

qREfqal o Ty

HEar e |

iii. IR 3.

iv. O 4,

. T

@ (@) (i) (iv)
A) 1 3 4 2
B) 4 3 2 1
C 2 3 1 2
M 3 4 1 2
TTH | I Ueh qoiIcsh A0 el & 2
(A) T 3meT
(B) HEe @d
(C) Q-sort
(D) Likert
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47.

48.

49.

50.

o1.

The  process of  monitoring
performance, comparing it with goals
and correcting any significant
deviations is known as

(A) Planning

(B) Organizing

(C) Leading

(D) Controlling

The attitude that regards home
country management practices as
superior to foreign country practices
is known as

(A) Ethnocentric

(B) Polycentric

(C) Geocentric

(D) Isocentric

Strategic planning is best described

by the statement from the following :

(A) Facts are difficult to gather and
plans cover short period of
time.

(B) Facts are difficult to gather and
plans cover long period of
time.

(C) Facts are easy to gather and
plans are developed mainly by
upper level managers.

(D) Facts are easy to gather and
plans are developed mainly by
lower level managers.

The sales forecasting technique that
utilizes specialized knowledge based
on interaction with customers is

(A) sum of executive opinion

(B) sales force estimation

(C) time series analysis

(D) all of the above

Extreme division of labour tends to
result in

(A) Human motivation

(B) Boring jobs

(C) Non-specialized work

(D) Decreased work skill
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52.

53.

54,

55.

56.

From the view point of staff

personnel, a major reason for line-

staff conflict is that line personnel

(A) do not make proper use of staff
personnel

(B) resist new ideas

(C) do not give staff personnel
enough authority

(D) all of the above

Operating risk is the risk of the firm
not being able to cover its

(A) Fixed operating cost

(B) Financial leverage

(C) Operating leverage

(D) Debit service coverage

A lending institution, in case of term
loans is concerned with examining
the company’s

(A) Profitability

(B) Debit equity ratio

(C) Increase in retained earning

(D) All of the above

Trade credit is known as

(A) The credit extended by the
supplier of goods and services in
the normal course of business.

(B) The credit extended to the
supplier of goods and services in
the normal course of business.

(C) The credit extended by the
customer of the goods and
services in the normal course of
business.

(D) The credit extended to the
customer of the goods and
services in the normal course of
business.

Which of the following 1is the

essential element of leasing ?

(A) Assets

(B) Term of lease

(C) Parties of the contract

(D) All of the above
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47.

48.

49.

50.

51.

TeyE R @ uieen, SeH fed
mecqul foee % guUR 3 oled &l
qOTT St ST &, T STHET STl &

(A) AT (B) WA
(C) =g (D) T

o TG e @Rl ey @l
foell Sqeer | ST /FT ST &

(A) THRE  (B) Oz
(C) FEmizE (D) smedmich

TEH T H O A WO

oy de¥ =rentad fear ST HeRdr

T2

(A) T P THI BT BT © AR
ST 77 37 & e € |

(B) @ Thgl HAT WA § W
AT e 37ay & fow & |

(C) =T THg HAT IHH & IR
AT T 3o S0 & Werereht
% g7 ok o STt & |

(D) TF THI HAT IEA & AR
AT qerd: F0 ST 3 werereht
FRT faehiad i STt € |

Toshar fasaoT qeheiich ST WEehl & |1
WER Fag W A foery {6
T H AT &

(A) HEFHR foERT 1 AT

(B) Tasha wifeRt I 3TTHH

(C) 2TEH FiRst wAe

fgitees
(D) SR Tt

A % AT forwTeTT o1 IR g &
(A) = IO

(B) @i aren s

(C) T forerusTar =t e

(D) I FICAA § FHH
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52.

53.

54.

55.

56.

HIHF T D gtz T AR ©IH Fay

T U TT HRUT & b AT ik

(A) T FHIHS HT Tl TN &l

(B) ¢ faami W T

(C) % FHIHh & Taa AHR &l
Td

(D) SUreRT a4t

FEBR SGH, ITH H g€ SEH &
ISEREED ! 23 el o S
THAT T |

(A) TS STIRIET BT

(B) eIt foforst

(C) AT et

(D) Sfae Ao FHas

g_zrrﬁén-ﬂ"q’ﬁﬁ TIRT0T W Waired
|

(A) AR

(B) <fue foaet e

(C) fEs 3t v gfg

(D) SRR Tt

SR SROT i ST ST &

(A) UR & 9T S H a%] 3%
AT YRTTS gRT AT T 0

(B) &MUR &% AT A H O%] 3R
T FETATST i AT = 0T

(C) =R & 99T oA H o%] 3%
Yo & IS FRT A T
0T

(D) MR % WM %A | o] 3R
T o JUIKATS i [T T 0T

T2 W 2 1 AEE dY Y 2
(A) Iy

(B) U WA

(C) dfasr & et

(D) SRR Tt
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S7.

58.

59.

60.

61.

62.

Arrange the following in the order in
which they appeared. Use the code
given below :

I National Committee on Tourism
II.  National Strategy for Promotion
of Tourism

III.  Tourism Finance Corporation

IV. National Action Plan for Tourism
Codes :

(A) IV, IILIL I

(B) LILIV,II

(C©) ILIV,IILI

(D) LILIIL IV

Which one of the following objectives
of the National Tourism Policy, 2002
is to provide impetus to the vast rural
tourism attractions of India ?

(A) First (B) Third

(C) Fifth (D) Seventh

Hospitality dimension of tourism is
given much importance for the first
time in the history of tourism
development in India in which policy ?
(A) Tourism Policy 1982
(B) National Action
Tourism 1992

(C) National Tourism Policy 2002
(D) National Strategy for Tourism
Promotion

Plan of

The concept of hospitality includes
the following :
(A) Welcome (Swagat), Information

(Suchana)

(B) Facilitation (Suvidha), Safety
(Suraksha)

(C) Cooperation (Sahyog),
Infrastructure development
(Samrachana)

(D) All of the above

According to Butler, the main

approaches to impact mitigation are

(A) changing the tourist type

(B) changing the resource for
resistance

(C) curbing tourist numbers

(D) all of the above

What is India’s rank in world
Tourism receipts in the year 2011 ?
(A) 15 B) 17

() 19 (D) 21
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63.

64.

65.

66.

67.

Which State ranks first in the number
of Foreign Tourists visits in 2011 ?
(A) Maharashtra

(B) Tamil Nadu

(C) Delhi

(D) Rajasthan

How many times India has been
elected to the Chairmanship of the
Executive Council of UNWTO ?

(A) One (B) Two
(C) Three (D) Four
Japan  International ~ Cooperation

Agency (JICA) has signed loan
agreements to undertake the Ajanta-
Ellora Development and Conservation
Project (Phase II). The loan assistance is
(A) 6887 Japanese Yen
(B) 7331 Japanese Yen
(C) 7687 Japanese Yen
(D) 8011 Japanese Yen

Market  Development  Assistance
Scheme (MDA) administered by the
Ministry of Tourism, Government of
India, provides financial support to
approved tourism service providers for

(A) Sales cum study tour

(B) Participation in fairs/
exhibitions

(C) Publicity  through  printed
material

(D) All of the above

Assertion (A) : Tourism will only
flourish given the appropriate
conditions. It is an industry
which like any other industry
requires sophisticated planning
and organisation if its full
potential is to be realized.

Reason (R) : This must be done
with the needs of host
community as a major focal
point.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but

(R) is not the correct explanation.
(A) is true, but (R) is false.
(A) is false, but (R) is true.
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57.

58.

59.

60.

61.

62.

TR ol 3ok 3ot & 8 § T

I 9 SRl 3 ZReH

[I. A ST ®R YHRE 3%
AT

1. IREH FEA BRI

IV. -9 TRM T i e
Fe!

(A) TV, 1L L, 1

(B) LIILIV,II

(C) 1L IV, I, I

(D) L ILIIL IV

LT T Hifd, 2002, % I[&wA H
TR & Toemer UTHoT e 3eRyult
T WS AT i 9T 32T & 2
(A) TEer (B)
(C) dr=at (D) et

R % qe foerg &t Aifd & siderg §
Teh AW Bl H Teell IR ST
e fea T 2

(A) TEA Hifd — 1982

(B) Tde i T HE ASHT — 1992
(C) TR T =ifd — 2002

(D) TR ST UiedTe i IO

anfeen sl srayron § fr=fatad gafed
£

(A) AT, g1

(B)  gferem, g

(C) T&anT, T

(D) SRS Tt

FT * AR U9 TRIHE % A
TR € 2

(A) TITH THR B TG

(B) WICRIY o THTE i SGetT

(C) Y HE&AT i I

(D) U Tt

a9 2011 ¥ fava wdeq witd § 9Rd &l
i 9T T o7 2

(A) 15 (B) 17

(C) 19 (D) 21
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63.

64.

65.

66.

67.

g 2011 H foRe wesh HA &l gt
Y HIF T IST TAT AT 2

(A) ¥R (B) dMHerTg
(C) feoett (D) TSTEE
qRA H UNWTO I HESHR] GHug &t

AT & fow fopat a) I feE
T ?

(A) T
(C) €=

S TR WeanT AT (JICA)
I IEAIUART fow wE AR
uiEis (fEdE =T & RO @HEi
TR 6T & | I8 F0T WediT &

(A) 6887 STH! AT

(B) 7331 STUH AT

(C) 7687 STOMT a4

(D) 8011 STUH 3T

TR THR & G427 U §RT HIHS
SaeTHE AEEe @ (MDA), TdeT
Hell U3t bl forita FeTadm Ue o
&

(A) Tosnl @8 3T amn &g

(B) Wl / USRI | 9T o &q

(C) WeITSTd AR §RT TR

(D) SRR Tt

AHYA (A) : T T Taewiad g
S@ 3fad AR T S| e
I H TE T A AH T
3R W 1 AEvIRAT § AR
TR QU TAEAT T FET BT
T

A% (R) : W Y TRE H TH
HIhA @ES & €9 H THHT
ST AT € |

E T

(A) (A) 3T (R) 34T W& |

(B) (A) 3X (R) I Wél & W (R) Wel
TR TE € |

(C) (A)WEE WR)TAE |

(D) (A) T & W(R) W& |

(B)
(D) =X
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68. Which one of the following is not a
part of the interactive planning ?
I. Includes information feed back,
consultation and negotiation.
II.  Interaction occurs early on and

throughout  the planning
process with full range of
stakeholders.

Codes :

(A) [Iiscorrect.

(B) IIis correct.

(C) BothIand II are correct.
(D) Both I and II are wrong.

69. The following Committee
recommended that the public sector
should assume a more active and
positive role in promoting tourism.

(A) Sargeant Committee
(B) Jha Committee
(C)  Yunus Committee
(D) None of the above
70. It is the first State in India to be

accorded the status of partner State of
the World Travel and Tourism Council
(A) Kerala

(B) Rajasthan

(C) Tamil Nadu

(D) Jammu & Kashmir

Read the passage below and answer the
question that follow based on understanding
of the passage. Answer the questions (71-75) .

Tourism demand forecasts are
traditionally generated by either
quantitative or qualitative approaches.
According to a comprehensive reveal by Li
et al (2005), 420 studies on the topic of
tourism  demand  forecasting  were
published during the period 1960 — 2002.
Most attention was directed at the
development of advanced statistical
forecasting methods including both time-
series and econometric approaches. Time
series methods use past patterns in data to
extrapolate future values and whilst time-
series approaches are useful tools for
tourism demand forecasting, a major
limitation of these methods is that they
cannot be used for policy evaluation
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purposes. By contrast, econometric models,
which estimate the quantitative relationship
between tourism demand and its
determinants, can be used for policy
evaluation. The large body of literature that
has been published on tourism demand
forecasting using modern econometric
technique is reviewed by Li et al (2005).

71. During the period 1960-2002, 420
studies completed and based on

(A) Quantitative Approach

(B) Qualitative Approach

(C) Quantitative and Qualitative
Approach

(D) Time-series Approach

72. Time-series methods are
(A) To use past patterns in data to
extrapolate future values
(B) To use data to know the past
pattern of tourism
(C) To use the data to explore the
future pattern of tourism
(D) None of the above

73. Time-series methods are useful for
(A) knowing the data and to work
out the number of tourists

(B) making forecasting for future
tourist demand and supply.

(C) 1identifying the tourist
attractions and a number of
tourists

(D) developing tourism sites and
destinations

74. For policy evaluation the following
research method is not so useful :
(A) Time-series method
(B) Economic method
(C) Survey method
(D) Snowballing method

75. For policy evaluation useful method is
(A) Quantitative, Qualitative
economic approaches

(B) Comprehensive economic model
(C) Econometric method
(D) Moving average data
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68. fT=fifad ¥ ¥ HH W TRUFRT

@ﬁm ab‘rﬂm%“r%‘?
HIS ah, Ty 3 e
H%WWGJTHTF\’FT

. 9% wiHd o & R fgar
TormeT & =g ST

HT

(A) 1T |

(B) NTET |

(C) 13RI T E |

(D) 1 3R I3 T € |

69. THIREd & ¥ o & afd T T@
3Tl &I, fF wed Wded & o
QS SWHAT Bl 3 GfHT 3R
GHRTcHS AT 31T LA AMET 2
(A) Teic amfd
(B) 3 9
(C) Fq9 dHfa
(D) e o T

70. TE UG H Gl 159 & foen! fove
I 3T T HEEA T IR a9 6
e fgen €
(A) HA
(B) TSI
(C) dMHTS
(D) =T TS HPHR

FAfeiaa Tare @ 9fer 3R 3WeH TR W
e 5T MU dte et o ST ST
(I3 E. 71-75)

T AT G YA IRERE w9 9
AT AT TOTcHS STTHT §RT 30T 8id € |
o TS (2005) FRT TS SIS FHET F
3R A AT &1 A o o faug o
420 AT, 19602002 H Y F IRH
WW%ETFQ | $H 3o HiETehE JarHH
Tt fSTas 9 ofgen X srifufa sy
THT I &, & foera &t 5o |7 sty e
Hisd R T | S SEel ugiaar § ot
el & AfeeeH o folT 3iehel H qd WiaHe
wm?ﬁmw%aﬂ?m%w%@w
AT Y | Yaia & e Syt e
B & 1 T uRfodl & e a9 § i
%WWW%WWW

:Eﬁ' [T ST Hohdl %— | STafh e IOIH'{ICI
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it Aige 1 fF w@¥ed @ IR @
fuient & o AETcAe ey &1 e
€, S i qedieh % Ty e o
& & | éugweb a?iﬁq%r SEicaiea) el
ch{d ‘g"lf LMd"i ITPT ‘iOIIjHI"I [GRIE -\q HGII‘ﬁld

I Giiecd o AIehT 9T bl off Seag
(2005) FRT THET &l TE & |

71, 1960-2002 T AT & IR 420 7T
R T T SR T St o
(A) THETHR
(B) TOTcHE ATHTH
(C) THEHS a1 UM THTH
(D) T @A AT

72. 99T ST UFiaAr &
(A) et godr o afeaee @ forw qa
AT BT W
(B) WA % YA WAHFT H T &
ToTT aitehet &1 T
(C) e &% 9iEl WaHMT Sl ST &
fetw sffergt 1 W
(D) SH | W HiE TE

73. T SfEen ugiadt fHae ferw suEmm
B & 2
(A) Sihg ST 3R THcH Hi &
Hied e % Ty
(B) W&l e A AR gid @
ETAM HH % o
(C) T SMHUT SR TIeh ht T
I TeTH % forw
TeH el AR TAA I 6
faehr & fole
74, Ffq goaieT & fow e O 9 @i @
Ui T SURNT Tel & 2
(A) THT AT TS
(B) Tk Higet
(C) TaeToT Ugfa
(D) SR Aiger

75. =it geaies o forg suant ggha &
(A) TS, O T ATy
(B) =AU A Higet
(C) 3iffa wgfaat

(D) 3T g TR T

(D)
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